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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully
before you open the question booklet.

1. Answers are to be given on a separate
answer sheet (OMR sheet).

2. Please write your Roll Number as allotted to
you in the admission card very clearly
on the test-booklet and darken the
appropriate circles on the answer sheet as
per instructions given.

3. There are 50 questions in this test. All are
compulsory.

4. Please follow the instructions given on the
answer sheet for marking the answers.

S. If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back to the questions, which you have
left in the first instance and attempt them.

6. Since the time allotted for this question
paper is very limited, you should make the
best use of it by not spending too much time
on any one question.

7. Rough work can be done on the given
Blank Pages at the end of the booklet but
not on the answer sheet/loose paper.

8. Every correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet (OMR)
only to the invigilator after the test.

Hindi version of the question paper will be
considered as final in case of any dispute
arising out of variation in translated version.

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.
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difgen qGaT URtE
MENTAL ABILITY TEST
3 UVA-UA | FeT 50 WA €| WS AV U & H ¢
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

519 UehR 37e2iHier o1 Ty FH9re 9 € 391 dtE HeHieT &l g0y e

(1) & & deer @ | (2 9 I TS q

(3) KU HI ghg | (4) IgHUSEHNE JE W1

As Altimeter is related to height in the same way Fathometer is related to
(1) intensity of sound (2) depth of ocean

(3) growth in plants (4) atmospheric pressure.

5 W ‘Hier’ 1 gy ‘gt § 2, 3 UBR A (Knot) F TEY §

(1) ¥ () e (3) W (4) T
As Mile is related to Earth in the same way Knot is related to

(1) Ocean (2) Mountain (3) Planet (4) String.
9 fell T e § @ S v R

(1) AR (2) THEHTR (31 Temen (4) ST

Select the odd one in the qucstioh given below :

(1) Jaipur (2) Gandhinagar (3) Shimla (4) Ajmer.
fFrfefed wea | 99 i s fafere geR & de &1 SFTE ad €1 U el 3§
i & | s0e Siie &l BifeU

In the following question, three pairs follow certain pattern. One pair is different.
Select the odd pair. 3

1) 8512 (2). 72343 {3} 6:216 {4y 15 {3125,
fFfefEa gaEen § o« @@ 7 S

Find the missing term in the following series :

21,63, 389, 2 ,'1701. .

1) .67 (2) 721 (3) 954 (4) 1323.

{53 4 foshed § ¥ o Ug 1 99T iU

Choose the missing term out of the given alternatives :

MNBA,. NOGB, OPDC, ?

(1) PQDE 421 PQED (3) DEPQ (4) DEQP.

g Rl Withfash w1 § KANPUR’ &1 ‘LBOQVS’ foi@r e &, at 3t qishiaes st
4 NAGPUR’ f® ¥ 1 #Ig ¥ 2

If in a certain code language ‘KANPUR’ is coded as ‘LBOQVS’, then in the same
coded language ‘NAGPUR’ is coded as : :

(1) BOHQVS {2) OBHQVS (3) OHBQVS (4) DOHBQV.

5 1201 [P.T.O.
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MAT-1 (4)

Aime See 8. el Qihfceh HHT H ‘nee time see’ bl 319 ‘How are you’ ¥l ‘blee nee see’ I a1d
h_fe/a 1 2 2R ‘Where are you’ @I, a3 ae o ‘Where’ F foo HI-9 Fichider Sig & T4 foma
L B e TR ?
- If in a certain code language ‘nee time see’ means ‘How are you’ and ‘blee nee see’
Lw\ie, S"l} means ‘Where are you’, then which term is for ‘Where’ in that code language ?

i o (1) Dblee (2) nee (3) time (4) see.
w\wﬂ“ﬂf). EF AL, BHRYIDE, AF f90€ F AE g3 e, BH T FEIDFAS
” Y T Y € 2 :
(1) 8 (@ wmm
@ g A4)  didl

Ais son of E, Dis son of B, A is mérried with F, F is the daughter of B. What is
the relation of D with A ?

(1) Brother (2)  Brother-in-law
(3) Father-in-law (4) Husband.
10. AR A UE FE, AF W CF, F&H §&d D& AR CH 9K J &, @l J &1 9=
PHE 7 " S :
If Fis brother of A, Cis the daughter of A, D is the sister of F and J is the brother
o X of C then who is the uncle of J ?
(B&C 20 A ;3) D ( (4) F.

U9 (11-12)/ Questions (11 -12) . :
iy : Frfofad g % MR W 9 & I ST ¢
A+ B % 34 A, BFI e €1
A-B % #¥ A, B FI Ui €
Ax B &1 3 A B &I ¥E ¢

A+ B &1 34 A B &I T &l
Direction : Give the answer of questions with the help of the following
information : SL

A + Bmeans A is father of B.

A - Bmeans A is wife of B.
A x Bmeans A is brother of B.
A+ Bmeans A is daughter of B.

11, S-T+ZHF HIE
(1) S z®HE ’ 2 2z SHTHE
3) Sz H aHEE ‘ 4) S Z% T &
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13.

14.

15.

(5) MAT-1

S- T+ Zmeans

(1) Sis mother of Z (2) Zis the daughter of S
(3) SisauntofZ (4) Sis sister of Z.

Sx T+ Z%H 314 &

(1) Sz FAEME 42) Sz FfuarE

B) S zZHFYILE 4) Sz FYIRI

What is the meaning of Sx T+ Z?

(I) Sisuncle of Z (2) Sis father of Z

(3) Sis brother of Z (4) Sis son of Z

UF A g9 h AR Ge fFU 1 9% fomed few § 1350 gEer & @ R 1800
gferonerd foen F grar &1 o@ E EH-G R A b @ 2

(1) IW-gd (2) feror-gE (3) IW-UREH (4) Ihefur-ufvEw)

A man is facing east. He turns 135° in clockwise direction and then turns 180° in
the clockwise direction. Which direction is he facing now ?

(I) North-East (2) South-East (3) North-West (4) South-West.
TH HI AU W F 5 Tt qF @Y ok T R e g 3 fed wen, R
T gHR 5 forlt TreT | 9 TRt fag @ Reat T E 2

(1) 3Tt “©2) 4 3) 6 fwet 4) 7 fw

A man travels 5 km in the east from his house. Then he turned left and travelled
3 km, then again he turned left and travelled 5 km. Then how far is he from the
initial point ?

(I) 3km (2) 4 km (3) 6km (4) 7 km.

fed 2 for @ sTed 9% AR S e ¥, o S

From the given ﬁgure', find the businessman who is farmer but not a politician :

Businessman
a1
Politician
B 7 2) 5 : (3): -4 4) 9.
feg 1 a9 smg & W faey g
(1) WERd, g, fefed (2) e, e, Jwve
3) e, f=el, TR (4)  BHEI, TASHI, ASH |

STSE/ 15 - MAT-1201 1201 [ BR.T.O.
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Choose the correct alternative of the given Venn diagram :

(1) Employed, girls, married (2) Hour, minute, second
(3) Vegetable, lady's finger, tomato (4) She-student, girl, boy.

17. 'ENTERTAINING' ¥I& % 3&R] | 7l & arcll -9 5 ¢ ?

Which word cannot be formed from the letters of the word 'ENTERTAINING' ?

(1) INERTIA (2) TRAINING (3) TERTIARY (4) TREATING.
18. 37T FuTHE # R AR W SREd SHER % il R BT HEW HA-FI BT 2

Which letter will be the sixth to left of the twelfth letter from right end of the

English alphabet ?

(&) ~H I 3 J 44) G.
19.. I q &1 39 +, bmmh ¢ T 3 - R d FT 3% x, A 24a6d4b9c8 HT TH &
If @ means +, b means +, ¢ means - , and d means x, then the value of
24 6d4b9c8 will be L% 649 -8
4 : (2) T SR A IR P e U
o asfemmw@ﬁmaﬁmuﬁﬁm? o
35+7x5+5-6 = 34 L Vo,
(1—;7& x - (2 +HRx (3) +aﬂ?- %-aﬁn l‘
By interchanging which symbols makes the equation correct ? .
35+7x5+5-6_= 34
l]ﬁ x and - 2L+andx (3)}<: +and - %—and+
/ok A0, %memﬁwaﬁm% e
QS\/ e ’Cg‘he correct ordi;k of the following words in English dictionary will be
slu -
é‘t,\ b. slung - s A & WA e
s c. slump
ol d. slum. | i
1) d,.£,b; a (2) c.byd;a era-d,b - | (4) a bcd
22 ol e -1 ?
a, @ > : .
b. W F 4 A f(’ 3 /V L 1\
c; W ;_,/"/ © ‘Q’ )
d. g e 3
e. |
(1) e,b,c,d, a 2)i a:e;id, bie (3} e,c Db d,a (4) ea,d,cb.
What will be the correct sequence of the following ?
a. square
b. line
c. angle
d. triangle
e. point S
(1) e, b,c,d a B aedb.e (3) e¢,bda (4 ea a.cb.

STSE/15 - MAT-1201 1201
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23. = 1 WE wH FE-ATE 2

a. @&

b. 9=l

C: aﬁéﬁ a l(‘, .Q,\\'

d. dad 2

€ iR |
(1) bya,cde 2) a,c,bed (3 byaced (4 dcb,e.a.
What will be the correct sequence of the following ?

(a) school

(b) child

(c) college

(d) salary

(e) service
(1) b,a,c,d, e (2) 'a,c, beyd (3) «byacc,e; d- (4. djc;h, e a

24. UH GUET H UF O &I TAF Fel I & (oY 3 3% Hord § a9 Hed® Tord I h
?ﬁ{ﬁ@ﬁg%naﬁaﬁsommm%mmommm%mm (e
wEAT

3
(1) 45 2 315 (3) 50 (4) 10. :
I[1+= “In an examination a student scores 3 marks for every correct answer and loses w
® 1 mark for every wrong answer. If he attempts 60 questions and secures (\U
Q
(\w;

140 marks, the number of incorrect answers is
{1) 48 (2): 15 3} .80 (4) 10.
5. AY B FYH 10 T9 F IR &1 16 9 a1 A H 3 B Sl a0 g B FAI @
g, At A T gaEE 3y fraHt € 2
(1) 3699 2) 30a4 3) 2689 (4) 20T9| 0
Age difference between A and Bis 10 years. After 16 years A’s age will be double
B’s present age. How old is A now ?
(1) 36 years (2) 30 years (3) 26 years (4) 20 years.
W (26 -27) / Questions ( 26 - 27)
firdw : 3 A R o o g (7)) T R
Direction : Find the missing number ( ?) in the given figure : fo o dpoesl %? :

26. \a? 3 \L\ ,) =

\ o

jé@ . ol SRR

(1)
27.

2) 71 (3 8 4) 4.
9 e o . e 0 y o L " %
: |
© () (2)
3) 24 (4) 44.

6
(1) 29 (2) 20
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28. I T & 3R / 3k / @ A W U fohed 4 € o S vt 7 w1 |9 gE
€, T 8 FIE W (vowel) & U1 31k a5 § G5 &1 & ?

In the gi\{en word / figure / sequence how many 4 are there such that just before
4 there is no even number and no vowel and just after 4 there is an even

number.
E432M4847U8467464519BB7U
(1) 1 (2] 7252 (3] 3 (4) 4.

WA (29 - 30) / Questions (29 - 30) Sl a"[faq
:ﬁmﬁf@a.mmmqmngﬁﬁqm IW :
| UF G H HARR Y66 wE & w%m%agmﬁf@aﬁmﬁﬁﬂq%l

BT & folu savas & foh 9% —
i)  TgAAH 50% 37i % G e GRIeAT 3707 @l |
i)  01.12.2014 I 21 T4 &I g ¥ FF 7 & |
iii) WA % THF 50,000 Fo 3T HT Ghl &l
quft, af |t 37T VIt I G A B T —
a) suﬁ?ﬁ(i)%,@ﬂ-ﬁ-ﬂﬁﬂéﬁﬁﬁuawﬁﬁ%wm-

A & U™ ST |
b)  IWI (ii) &, b HORT & GHF FH-V-FHT 30,000 Fo AR TH HE & WK
et TRT 31T X Fehell &, Al T8 AT 391 o 9r8 |7l 0 |
frferfaa gﬁw % IER IR T —
a) B 1 FAY 5T S0
b)  BE I YA 7E fgdr S
¢ WEhUT YATT 3TeHET % UTg HSll |10
d) YR 9T o 9T ST S
Direction : Read the following information carefully to answer the given questions :
There are following rules to admit students in a Post-Graduate Management
course in an institution. The candidate must —
i) be a graduate with at least 50% marks
ii) not be less than 21 years on 1st December, 2014
iii) have paid Rs. 50,000 at the time of admission.
However if a candidate fulfils all other criteria except —

a) at (i) above, but has a working experience at least for 2 years, his/her
case is to be referred to Admission President.
b) at (iii) above, but has deposited Rs. 30,000 and rest of sum in a month,

then his / her case is to be referred to Director.
Give answers with the help of the following information :

a) - The candidate is to be admitted.

b) The candidate is not to be admitted. -
c) The case is to be referred to Admission President.
d) The case is to be referred to Director.

29. TH Yl A 58% 3% & WY T GO 36T FH ¢ R fee WX o6 4 g FW
FT TET &1 ITHT T 28 AR, 1989 I g3 & TGl WA¥ & FHI 50,000 TFo 37T
T GhHT ¢ |
Ram Sharma has secured 58% in the degree examination and he has been
working for the last 4 years. He was born on 28% January, 1989. He can deposit

Rs. 50,000 at the time of admission.
- Ca (2) b 5 o (4) d.

STSE/15 - MAT-1201 1201
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30. @I Al A WA Wi we Sl # Wl A ¢ o fowel 98 a9 § gh den o
1A & | IGHT ST 30 S[eilS, 1988 Fl g1 & | T8 WA & THT 35,000 To 3R I
T UF FlE 915 351 H Fehell ¢ |

Sonu Verma is a graduate with 15t Class. He has been working in an
organisation for last 4 years. He was born on 30th July, 1988. He can deposit
Rs. 35,000 at the time of admission and rest of the sum in a week.

3 A @) . b 19) ‘c (4) d.

WY (31-32)/ Questions (31 -32) |

fadwr : e e 31 wd 32 A ferll % < 9 €, T U wEE o geeEr-fom 3 gat &
IR-fot e €1 we-fad UF %9 § UF % 9% U 7@ gU €| U IR 6 9 0
U et o1 FAE AT &, ST G-t | FHMER S0 Sl S 6 | Wl I-fa Hl |
T |

Direction : In Question Nos. 31 and 32 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to
which the problem-figures are arranged. You have to select one figure from the set of

answer-figures which can be placed in sequence after the set of problem-figures. Find
out the correct figure. ;

393 que-faa / Problem-figures e / Answer-figures

EiEi=ji2R[nr [ (PP @
(A) (B) (C) (D) (1) ((2) (3) (4)

32: que-foa / Problem-figures IW-Fax / Answer-figures
L0 A B (] ] e
(a) (B) (C) (D) 1) (2 @ @

33. W H fosi & <1 @9e €1 o3 4, B, ¢ 3R D uwn-fax a1 fa= 1, 2, 3 9 4 IW-fo
2| fag 4 dur B fivaa gy €1 sR-Fox @ fow D &1 w99 o 968 o=y o
c 9 p ¥ wnfug i)

Question contains two sets of figures. Figures A, B, C and D are problem-figures
and figures 1, 2, 3 and 4 are answer-figures. There is a definite relationship
between figures A and B. Establish a similar relationship between C and D by
choosing a figure D from the answer-figures.

qua-fas / Problem-figures IW-Tax / Answer-figures
e ]ele] 2| [elle]olTe|foel|olle
(A) (B) (C) (D) 1 2 B @

STSE/15 - MAT-1201 [ 1201 ] i BiipiEo,
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34.

35.

36.

37.

38.

39.

40.

STSE/15 - MAT-1201 1201

weA | 9R o e €1 3 @ v fam o femit @ Her @ @i 81 39 9ne fa
1 T i |

In the following question there are four figures. One of these does not correlate
with the rest of the figures. Find out the odd figure.

& P |D|D

b d
$1) - B (2) ba £ 3. c (4) d.

A fed 7 fom o fofae et € 2

How many rectangles are there in the figure given below ?

Vi
b

i 7 2) 8 3) 9 (4) 10.
T 2 m fax | frem B € 2

How many triangles are there in the figure given below ?

(1) 10 2) 12 3) 14 (4) 1631 3AUSF (or more).
3fUST uETe % e 31eR R €, Forerept sur wfafersr wme e & 2

How many letters in English alphabet remain same in mirror image ?

(58 2) 9 ‘ (3) 10 (4) 12.

f&d ™ et (x) 1 9R foereat & @ gYur widafaw @

Out of the following four alternatives the mirror image of the figure (X) is

[T ]

(X) 1 (2 3 @
MPARI & o] Wfafars &

Water image of MPARI is
(I) W9AEBI (2) INPVEI ‘3) IWBVII (49 WBVEI

R faeredt @ fed 13 fom (x) &1 STt wfafas @
Out of the four following alternatives the water image of the given figure (X) is
°
- a® [T Taf T
PY ol & 7 I o4
(X) . (1 (2 @) (4
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41, STFH ZE B YOI B T HH-AN o & 2

Which of the alternatives completes the figure matrix ?

] [/

/
A N

1y 2 B @
40, @ T A § BE-U1 e GEEY P T B IRRI B E 2

Which of the following alternatives represents grouping of similar figures in the

gwenﬁiu:?/h A TP _q(\_

a b c d f
(1) . ad, be,ef (2) ae, bf, dc (3) af, bc, de (4) ab, cf, de
43. fe& M o o wA & wen @i
The number of cubes in the given figure is
68 B
TN \‘\//

6@* "5\"

\’\o\’
W o

(1) 20 (2) 30 3) 56
44, 9 UF UR Y q Refadt qeiE T € {dg | 2 3i% & df A & e & I’F
i forfam :

The two positions of a dice are shown below. Write down the number at the
bottom when the top is 2 :

(1):.. 4 2 4 B) S (4) 6.

STSE/15 - MAT-1201 1201 PO,
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45.

46.

47.

48.

STSE/15 - MAT-1201 1201

W | wh e 9 x fean & 9wk faseq fom A, B, ¢ 3R p R T | v fawen
&1 95 iy A 6 e fo x @ s[gat ot it w9

In the following question a key figure is marked X and four alternative figures
A, B, C and D are given. Select a correct alternative which fits exactly in key
figure X to form complete square :

e . b

(X) (A) (B) (C) (D)
(1) A (2 B @ C {9) 0

;ﬁﬁwmﬁfx,ac AR D q T ¥ FH-G A SFTE § T B Fmior
?

Four figures A, B, C and D are given in the question. Which of the three figures
will form a square ?

e =

(1) ABD 2) ABC @ AcD (4) BCD.
5 ™ ®F-9 fosey ¥ qEg swfa x @ @ fmir g 2

Which of the given alternatives will exactly make up the key-figure X ?

\ 3
1DI®|XK|O
(X) U R d
(1) a 2) b 3) ¢ 4) d

Fret sl o W sl (x) T 180° THEH FHR W - FR wrd BT 2

In the following figure, find out how the key figure ( X ) will look like after
180° anti-clockwise rotation ?

JPEE © °

(X) e
(Y a (2) b @) ¢ ' (4) d.
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49. IHIA (X )% ZHSI Hl S W HIA-Hl Fal ITR-HIT a2

Which correct answer-figure will be formed by joining the parts of the

figure ( X) ?

ZaN|
[l

(1) a

s0. wwE-fem # URY el § U Ged FEd 1 SR-oTH § ¥ FH-G gt s

(X)
(2)

Yo W S & ?

The four problem-figures have certain common patterns. Which pattern figure

b

L&

il

3

£

b
(3)

o

C

d

from answer-figures has the same pattern ?

quE-fa= / Problem-figures

IR-faa / Answer-figures

AY

O

O

OO

[

O

(1) a

STSE/15 - MAT-1201

(2)

b
(3)

1201

C

d
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